Mcﬂ'hemafics - Place Value & proportion
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By the end of this unit you shouid be able
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| = Convert fently between fractions,
| decimals & percentages
|
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FDP Equivalence

11 begnords

Fraction: how many parts of a who we have
Decimal: & number with & decimal pont. used to separate ones, Tenths, hundredts efc.
I Percentage: a proportion of a whole represented as & number between 0 and 100
|| Place vale: the numerical vale that a digit has decided by its posttion in the. number
|| Placehokder: & number that occupies a posttion to e vake

b & the. rumerator

| | in the smplest form

[ Intervak o range between two numbers
[ Tenth: one whoke spit nto 10 equdl parts
1 Hondredth: one. whole split irto 100 equal parts
1| Sector: i part of a circle between to radits (often referred to as boking lke a piece of pie)
L ” Recurring: a decimal that repedts in a gven pattem
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| Tenths and hundredths SO SR E—— : | On aumber e
[ __— Ore hundredth (ore F ° |
| whole spit nto o : | > e ok — pll o 0 equd pars
- 0 1
| o | B -IOO e;qua\.pgr’ése l i Sl et - % -0l
' § 0 0 ores, 5 tenth and 2 hurcredths | |
| 2 0+01+01+01+01+01+ 001+ 00l |: o1 e tenth — it rto 10 equdl parts
: =0+05+002 | Oretundedin - L - 00l
- =051 100
| One tenth (gpe whole spit. nto 10 equd parts) -0l : |
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| Fift Tierty hundredths “ Percentages on a hundred arid e
| - Ore Whoke. - | | 1007 = a vmokz 100 hundredths
: — Ore. tenth n T et 6 tenths and 3
| “( [TITTT]1 I 7 out of 100 hundredths
: = IE 63/
I < T terths - one fith Il = Ly
| pr II L — |
L Cre. fifth (one whole spit into 5 equal parts) - 04 ] 3 hundredths
I ————————————————— e e e e e G e e s e e o e
| Quarters 1 ll Simpke.pie charts || Equivaent fractions
One. quarter (one whole spit into 4 equdl parts) = = = 025 I I Represent equudence with fraction wals
I 4 60} 4 Il Spit nto 10 parts |I
: B I (LT Twenty fve hindredths |: - 107 - 360 I: |F T
. | it : | z
: g One whole thaffl: Sptrto 2pats | | I N S
| 3 ;_"_ﬁ/—o.s I - 50/ - I80° h
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| ‘- || 0P chat has 360 S o 5 pats :I BERENENEMERERG]
| One’ auarter = 025 so all FDP cakulations - 20/ - 720 .
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| Eractions — on a diagram TS TSTIIIIIICIIIIIC
I 5] The deromnator represented by EQUOLLY : : E.ft FoP The ako 70 aut of 100
| sized parts — this is seit info quarters (! 0 e —> sques —P o 70 ?J%r;ﬁtm
- __ | 100 70- 100 70 hundvedths’ '
o, T T T T | | kg a = 7 ‘tenths
: Eractions — on a number line Il | cabubtor 07
|I Be careful of recurnng decimals
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Mathematics - Addition and Subtraction Problem Solving
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| Whatdolreedtobeabktodo? || eywords |
| I'I' Commutative: chanang the. order of the operations does not change. the resut |
| By the end of this unit you should be. abke to: ) Ossociative: when you add or mulliply you can do so regardess of how the numbers are grouped |
I+ Understond propertis of addtion/ sublraction | ywerse: the operation that undoes what was done by the previows operation (The opposte operation) I
|* Use. mentd strategies for addfion/subtraction | | Placehold ver that ! tion t 0 |
|° Use. formal methods of addition/Sustraction for ntegers | | ’ -0 nomber 0Ccupies a position 10 give vaue |
I Use formal methods of addtion/Subtraction for decms | | Perimeter: the distance/ length aroind a 2D object |
| *  Sole problems in corftext of permeter | PDU@‘.TII a D SMP& made with str a@ht nes |
I Sawe problems wih frarce, lobes ond trelabes |+ Balpnge: n financial qestions — the. amount. of money in a bank account |
*  Sole problems with frequency trees Credt: that to a bark t
|+ Sole problems with bar chorts and Ine charts I | - money goes o a GECow I
I || Debit: money thal leaves a bark account [
______________ A a1
_______________________________________________ 3
: Oddition/ Subtraction with integers o € o Suptrgetion the order hs to stay the same ol writen methods |
— ition is commutativ
| AN 360 - 147 = 360 -100 — 40 — 7 HiTlo HIT O :
N - 56 93 ,/..‘.‘ "“ . . . . . . 1,87 4(2|7
I o oo + .. .. + .... »  Number Ines relp for addition and s a2 ~|2]4]s |
: Modelng methods for addtion/ subtraction subtraction I
| *  Bar models v+ 3 =3 ¢« 0 * Working n 10% first aics mentd - ; I
* Nomber ines addtion/ sublraction Remember the place vale of each cobm. |
le Pot/ wWhoe dagrams The order of addtion does not « Show your relationships by writing You may need to move. 10 ones o the ones |
| change the resu foct familes cobrmn to be. abke to sublract |
- |
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:Odditton/ Subtraction with decimals :| Solve problems with perimeter I
0 can be used Permeter is the length arownd the outside of a poygon |
| 413 84/ to fil em g
Py I
| 7 .90+ paces wth vake & em The tangk has a permeter of 25em [
| 1 Find the length of x |
| i . represents | nstead of 100 || \ |
| | &m + &em + xem = 2%em |
| m;:udmxl pllaoe tﬁs Eﬁethe Y Rewistt Fraction — Decm : | kosceles [Berm i+ xom = 25em |
|7 er and dlgns The other vales | 643 +_( equvdence | xem Trangke xem = %m |
| 10 543 + 0§ :l notation — |
L ________________________ S S |
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| Solve problems with finance. | : Tables and timetables Bus/ Tran timelabks Each colm represets a jourey, each I
| | row represents the time. the. ‘ous” arrives
_ _ | Dictance. tables Harton | 1005 1045 130
: ( Profi- bcome - Costs ] | Dol s voce | io2a e || | tht cator I
| (Corest — Morey comng o an cecout._] 1} Lonton Avile | 1051 | 133 | 1205 | | TIvE GOl CUOLTIONS — tse a rumber e, |
| | | |_2n | cardif Ware | 117 | 1202 | 1233 |
I[ Debl — Morey bamg an ezt I 195 | Glasgow |
|| A58 | 392 177 | Belfast Loty Tables |
| Money uses a two decimal place. sustem |
| 142 on & cakulator represents £ 1420 |I e <ot e bet H]T Where rows and cobmns ntersect s the l
s S 5 ance. WELN H HH(.H"*—— f th
:cmcktmmsafamm—mrknmesm:| Glasgon and London e oufeome. o trat acton |
urit | 115 where their row and coumn ntersects |
e o )
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Frequency trees Bar and ine charts
60 people visited the 200 one Saturday . How Y8 ravel to school Use, addition/ subtraction methods to
i extract information from bar charts

[

|

I moming
I 26 of them vere acults 13 of the adts
l favourite anmal wos on elephart. 24 of
I the. children’s favourite. arimal was an

| clphant

' Tre overdl totd

I ‘60 peopk’

I

I

|

0 frequency tree 1§ made up from part-whole models be taken from the completed

One. piece. of information leads to another
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e Difference between the number of |
students who waked and took the bus |
\Wak frequency — bus frequency I
|

|

|

|

|

I
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Wwhen describing changes or making predictions.
= Extract information from your data sobree
*  Make comparisors of difference or sum of valies
= Pul irfio the cortexd of the scenario

Probabiities or ctatements can

trees
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I [& Walk Bus Bicycle
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